0, N<0

— N We usant 2

£ gL L, N=0 At s w
2LF (NN +t(n-2) , nv0 cass, ad have

£ = 15 + 280D + f(n-2) it make ceneR.
& °o t 2z > * 9 last class
Lo L V) o o @) O
25(n-1) 21 202 25 212 2099
n-2) T B O
'F(n) | 1 2 5 2 29 70 \JV
Prelude> words =1 : [ 2xa + b | (a, b) <- zip words (0 : woxds) ] \-lqskeu

Prelude> take 6 words

(L, 2,5,822,2X9) 7161

| (2 8 12 @1  wods
O | 2§ 12 0O:uwods laz evolughon,
1,0 2,1 62 25 »n zip

7 5§ 12 29 7o 2a+b

words = | (2 '§ 12 @29 70 1:list
M
Cotalan numbers Cn, = @) {_T_}, , @, @, (o
(@] l y R E ¢
: ' @ They con be svnd . &seal’s Triangle
2
l ‘ 32%_—“ | Ch= (:D“(H-l\
P O 2020y (nH) 20 (20 ()
| 6 15 2B 6 | X! (e (n-) v 4

| 7 21 25 % 2\ 7 l Zn (‘2“"") _— (\’\ +0 (n'ﬂ) 2“ (‘Zn-—l) o (- n +0 n

| 8 ® 5 7% % 8 | (N vl T e () vl

1 2n ('Zm—l) e (n-H) _ |
wy? AMdE’s veflection method, (i) "WML T | (Zé})




C3=5, valid Pa’b)s on &x4 gﬁé 5)= 20-15
T ] T ; ]
L B
I I

L

\l@
:
;
:
:
;
a
;
@

Al paths  (§) ups
Bad patns Aipto (§) us

($)-(§)= 20-15=[5




Sewond Pk, explaiv the demaminglor L (Zn)
\ 5 MHAn

one of many eqoal S22 gvps, Fud tre chersa

OO TT] @e[o[T] @O [ ] e[ TTe] e[ T] ere[ (e[ ] [[To[T fo|

MICCC IICICC INCCIC D CCCY DCINCC DCRCHIC DD C)
3)XCCC DICHICCE NI C N CCCY NOMIDHXCC ICHOC HEHICCO)
CIINCC CHIICIC Ycd)dC YOI C INCCOY HHXCE)Y YY)
CINCC IMCIC F¢erINe IMIVC INCCCH YCYCCHY DCC) CH

@ TTee]] [e T [e(Te] [o[ [T Te[e] [Tele[e[ T | [Te[e[ (6] | [Te[e[ [ (o] [Tl [e[e] |

DCCINC ICCHICY DCCCHIY CIPACC CINCIC CINCeHrY €HCHIDC
DEOCINIC NECCICY HCCCHY €IINCE CIXHLHrYC CIYECcer»y €HYCHIHC
CIVCOY CHICICEY CCINEY CCHIINC HICLLHYY ¢€rCCHIY €<CHeY

CIVNCCY CHICICY CCIDCY CCINNC DICLCLCHIY €2CCIY CCHYCHI)

CTe[ Te[ 18] [Te[ T Tefe] [T Ie[e[e[] [T efe[ 8] [T e[ fe[e] [T [e]e]e]
€YCICH) (CHICLO) CCHIINC (CIICH CCHCDIY (CCCID
€YCIC) (CHICLI) CCHIIIO (CHIICH CCHLIY (CCCI
€CCcHI
CCCHI



Reqrmw3 w  shands:

()

% (§) =

=5

FEFEYR

2MNC(C
)30 (¢
¢¥))Y((
CIINCC

[Te[efel 1
I CC
(S IP A 4 ¢
(S To B A ¢
(M2

[T IeJeTe] |
CCIINC
CCIIC
€CCcH
€CCH

(T Tefele]
CCCIDD

¢ CC
22¢) ((C
€Y< (
(HMINC

I

[Te[e[ ToT |
ININC
(1> N PN
YCCCY)O
2CCCHY

(e[ [ T Tele]
2¢C (O
2€C (Y

CCINC)D
CCINC)D

[T TeJel Te|
(<Y

M
MY C
Y QO (C
2CINC

)Y <CCH
IYCCH

C2¢CCYH
€C2<CCYH

(IS T Tefe]
() CCH)

((
(
¢)
(g

_;;

2
M
Y ((
2((

N A
RV )
™A
N
SVNSvunaAn~
AAVV

ROEOON
CY¢2¢
CY¢2)¢

€<M¢O)
€<Y¢)

(T lel Tele]
CCHCd)

2CCNC
PAS AN
203CC)H
203CC)H

v

N v
N
~ N
(V IRV RV
N ANA
(Y ARV N

€YY

(Te[ Te To]
€)<Y )



hat albout se)ne}m'\'lflj onchn?
Play vt Iifferent ways T present reormon.

oM Vast dass: | 1 2 514 42
\ | ) | 1 25 1 | 251y
\ | 2 | 5 2 | | 4 5 2 | |
\ Vo 2\ 2 5225 14545 |
2 5 1% 42.
Flip numbei? So ﬁw, ‘oke dot @méodﬁ
L | 1 112/5 1442
L | 1/1 1 2 5[4
| 1|1 12 5
| = 202 2%
- 5/5 5
1% 1k
2

=9
Then  q(t) = L+ tgét\z
£l = gq(t) + 1 = O

C\Xz'i- bx+c = %= _‘Otdb‘z-qc = 3“:): ét 1-4t
2q 2t



